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= 11,476,286
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=z 13,396,000
= 4,018,800
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) 13,396,000
o= 4,018,800
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OXNRAMEAN=ZS 6,584,500
2 5,065,000
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OXNXNMIAAS2SE IS 5,734,300
2 4,411,000
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= 360,000
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MATITEHZRAETS 150,000 150,000 0
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OMATIENZSREY 150,000
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= 430,000
< 129,000
01 HXSHMA2E X 559,000 611,000 A 52,000
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= 40,000
= 12,000
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N 57,000 65,000 A 8,000
= 44,000
< 13,000
403 MHXSHHSA=0l& 57,000 65,000 A 8,000
= 44,000
< 13,000
01 HXSHMA=LE L 57,000 65,000 A 8,000
ORIstsdxd 57,000
= 44,000
< 13,000
MRS AL 2 100,508 99,532 976
201 L2l 32,108 28,032 4,076
01 At 2t 2l 27,108 28,032 A Q24
Oger==&H| 15,000
OAZBAAINHMLLE 5,000
OUEHAEESELRESR0 5,000
Ot RatsZANEdEaE= 2N R 5,000
O2d=sg 9,000
OUEFAZAHUMALLUH AL S 3,000
OMSBHELIAZMTORRAR] 6,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUERsLIRFN=E| 3,108
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OtE 2ot 2L MBI AR FA 28,400
203 YR =& 10,000 10,000 0
03 Al =AY 2= 10,000 10,000 0
OMSHIELAGRFA 5,000
OxeE g 2= 5,000
307 glz2tol & 30,000 20,000 10,000
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OF3==oldot3XUs = 20,000
OMEUEI OS2 At 2 23] 0H = 10,000
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< 147,667
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207 A& H| 186,000 200,000 214,000
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